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1 e SCHA hERERRE R 34 37 71 ¥ & &
2 R FlsE IEERF 34 38 72 | TiEREB
3 W E— EXAR 36 37 73 | FEEB
4 BEE EA BAE ERESF 39 36 75 | FEEB
5 RA BEX FreEE = LU 37 38 75 | TiEEB
6 FAE #2AER hERERE R 36 39 75 | FEEB
7 S 4 BRE IREF 40 36 76 | FiEEBE
8 ¥im xE BARZA2 39 37 76 | FiEEIA
9 B ®R=E LA951)—> 38 38 76 | FEEBE
10 |EH g2 =& 38 38 76 | FEEB
11 ik g AR RE R 37 39 76 | FEEB
12 |¥AE B# BASAY 36 40 76 | TiEEB
13 X% fE XEH 36 40 76 | FEEB
14 |BRZ2Z ExAR 41 36 77 | FEEB
15 R OIER EERF 40 37 77 | FERB
16 | Z% pry|I1E%] 39 38 77 | TEEB
17  |{FEE EZE BHARSAY 39 38 77 | TERB
18 |:ERE XRB EP-1i 4 37 78 | FEEE
19 [/hl #58A ETAIR 40 38 78 | FEEB
20 |WAB = IEER3F 39 39 78 | FEBEBE
21 SE & Iz Bk 39 39 8 | FEREB
22 |HiHE RS Iz B2k 39 39 78 | FEEBE
23 | EEF h R E R 41 38 79 | FEEB
24 | EE 82 Iz Btk 40 39 79 | BEEB
25 Ll BAE ETAIR 39 40 79 | FEEB
26 M EBE= BAE EREF 39 40 79 | FEEB
27 ARl EX BAE EREF 41 39 80 | FEEB
28 | JIIEA EZ Iz Btk 40 40 80 | FEEA
29 |BH BR prog[11h %3] 40 40 80 | FEEB
30 |Fuok HEE FrREES L 39 41 80 | FEEB
31 TE ZHM LA951)—> 39 41 80 | FEEB
32 Al F% AL 39 41 80 | FEEB
33 |BF ## Iz Bt b+ 39 41 80 |FEEB
34 )\ BEZ G=K AV 39 41 80 | FEEA
35 Tk E# XE 37 43 80 | FEEiB
36 M BUE BAE EREF 45 36 81 ¥ EE B
37 BXR—E ELAIR 42 39 81 Big 3 b
38 IE ZA LA95)—> 42 39 81 ¥ EE B
39 WE BX B EREF 40 41 81 T iE @B
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40 EH B = ot b0 40 41 81 FE BB
a1 =1 B8 B2 39 42 81 ¥ E @B
42  EE FIA BAE EREF 39 42 81 ¥ E & B
43 A E£4H HMEERET 38 43 81 ¥ E @B
44 | EW BEif BrEgR 43 39 82 | FEEB
45 KB TR BRE ERESF 43 39 82 | FEEB
46 Bk E— BARSA> 42 40 82 | FEEA
47 RE XBR FERF 41 41 82 | FEEA
48 ER KB XEH 41 41 82 | FEEB
49 | KH gk LAo51)—> 41 41 82 | FEEB
50 |BA# FA I B2~ 41 41 82 | FEEIB
51 Hh #H— prey (11 %] 39 43 82 | FHE&EB
52 |\RIEH BE IERRF 45 38 83 | FEEB
53 |#&#E KFHB BASAY 43 40 83
54 |B# F— th &R = p 43 40 83
55 Hrh #:8R ExAR 43 40 83
56 (&)l EA s 42 41 83
57 |BRH =Rth Ed-1=1 41 42 83
58 |HIIIE BRIF OHEEFH 41 42 83
59 |ARE [E BAE ERESF 41 42 83
60 BH & EERF 41 42 83
61 FAR K& (SIS 92 )| 40 43 83
62 W E= Ed-1=11l 40 43 83
63  |JIIF EXAR 40 43 83
64 |EHR HA BRE IREF 39 44 83
65 |BH Ht s 37 46 83
66 |KE KEB B2 44 40 84
67 |IAK fE E*XAIR 44 40 84
68 HLLE E% X/EH 43 41 84
69 FE IE e 43 41 84
70 LA 0k ETAIR 43 41 84
71 Fh 2 3> 43 41 84
72 HO &4 E3-1=11l 42 42 84
13 | REEZ ATy 42 42 84
74  |f2H RE BAE BREF 42 42 84
75 |#E@E 2 GRS 42 42 84
76 K Eif B 41 43 84
77 AWM EzZ y V) 41 43 84
78 EF R BARSAY 41 43 84
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719 &R ES ELTAR 41 43 84
80 HEHE MA BAE EREF 41 43 84
81 AR [E E*TAIR 40 44 84
82 M BBIE GRS 45 40 85
83 HLLE JtiF LA951)—> 44 41 85
84 |KH £ BE EREF 44 41 85
85 (Hig WE IERF 44 41 85
86 BIU = g=d153 44 41 85
87 BN BAE EREF 43 42 85
88 |&¥F =& prey (11 %] 43 42 85
89 |AH &= Ed-1=1l 43 42 85
90 |EWMRE LAo51)—> 42 43 85
91 f& 1L BA ETAIR 40 45 85
92 |HER =& I Btk 40 45 85
93 |&HM EZ =B 40 45 85
94 R %= prey (11 %] 46 40 86
95  |KERE IHEC g8l 46 40 86
9% |EAK BAE BAE ERESF 45 41 86
97 Nk AR Ed1=1l 44 42 86
98 |#t1#A ETH sk 44 42 86
99 |fiK EX I B2~ 44 42 86
100 |HE#H EN IEER3F 43 43 86
101 |2 BN B EREF 42 44 86
102 |FH)I B M=ot h3IL 41 45 86
103 |&H EX TA4)—& L 41 45 86
104 |lUiE Bx Iz Btk 39 47 86
1056 | HF BEE Ed-1=1l 49 38 87
106 |kH EIE KB 46 41 87
107 |fEH EBER BAE EREF 45 42 87
108 | BE &= AT 42 45 87
109 B[ Ei B2 42 45 87
110 |Z=#f BB HEER 42 45 87
111 |&fLE 18 EP-1: 46 42 88
112 | &)l FIfE BARSA> 45 43 88
113 |#E B8 E3-1=11l 44 44 88
114 |7 ¥ak E*XAIIR 41 47 88
115 |FHE RE th &R EIRR 48 41 89
116 |#% Bk proy (11 %3] 45 44 89
117 | K&t pE FERF 45 44 89
3 4AR— — R EEN REREIILER



FRR294EE H40HE KRR F 27 INTREHESE (FB)

BT ayy
BRI H - 2017/4/20
P BEILJEER REFIILISE IN— 72

4 £27099F & 6,362y

RIS
=LA K4 g ouT IN GROSS
118 |JBER EHA0 (I a2 ) | 44 45 89
119  |¥F EN FrREE S LU 43 46 89
120 [% R— e R 41 48 89
121 | Rk Bt ELTAIR 49 41 90
122 |thft FE e 48 42 90
123  |{&% B2 GRS 47 43 90
124 |AXK Rt FreEE = LU 45 45 90
125  |JII3* ER EXAR 45 45 90
126 |7k§E EH IERRF 45 45 90
127 |FJR X =<5 44 46 90
128 | L% 22— HENER 42 48 90
129 |¥y0 HE&E BAE ERESF 41 49 90
130 |/MF EBEL XEH 41 49 90
131 IFAE #= BAE ERESF 40 50 90
132 /Mt Fz (I a2 ) | 48 43 91
133 A 1B I Bt~ 48 43 91
134 |EXK & ey (1141 47 44 91
135 |BH FHX I Btk 49 43 92
136 |JIl £ =2 ETAIR 49 43 92
137 FIR #8— E*XAIR 47 45 92
138 |FH B— R B = LU 45 47 92
139 | & Ed1=1l 42 50 92
140 £k &R X/EH 47 46 93
141 R EHt BERSM1> 44 49 93
142 |;BR R IEER3F 46 48 94
143 |TEH == BAE EREF 45 49 94
144 AR EE IEER3F 52 43 95
145 |J\X &R (I a2 ) | 47 48 95
146 X% ZEif (GRS 50 47 97
147 |55 B=E8 EP-1i 47 50 97
148 |MIT B BAE EREF 52 46 98
149 | #E#E FOIE sk 49 49 98
150 |XERN F2 EP-1: 54 45 99
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